Include the 3- to 5-page summary at the end of the document, providing the context for what you list below.
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You may use annual rate of occurrence (ARO) ranges with the following values:

· Very Low: .001

· Low: .05

· Medium: .1

· High: .15

· Very High: .2

You may use control effectiveness ranges with the following values:

· Very Low: .25

· Low: .5

· Medium: .7

· High: .8

· Very High: .9

You may use the following ratings for designating priority:
Vital: The business cannot operate if it lost more than a day.
Critical: The business cannot operate if it lost 2 to 5 days.
High: There are major disruptions if the business lost more than a week, which affects parts of the organization immediately.
Medium: There are major disruptions if the business lost more than a month, which affects parts of the organization immediately.
Low: It affects parts of the organization.
Facilitates: It has a minimal effect on the organization, but it affects individuals.
Risk Value = Asset Value x ARO x (1 - Control Effectiveness) x (1 + Uncertainty)

Example:
Asset Value = $1,000, ARO = .1, Control Effectiveness = .8, and Uncertainty = .2 (80% certain)

Risk Value = $1,000 x .1 x (1 - .8) x (1 + .2)

Risk Value = $1,000 x .1 x .2 x 1.2

Risk Value = $24
